## Unique Auctions Catalogue 04 Mar 2020

| 701 | A mid 20th century framed and glazed   |     | £25.00 - £40.00  |
|-----|--|-----|--|
| 702 | Lithographic print. £10.00 - £20.00<br>2 vintage wall calendars £10.00 - £20.00                                | 732 | A Stuart Crystal 7" vase, a Dartington Crystal bowl, an Aynsley vase, a Royal County porcelain         |
| 702 | A 1930s oak framed Pears print £10.00 - £20.00   |     | teapot and Bohemia crystal vase £10.00 - £20.00  |
| 704 | A pair of 19th/20th century Staffordshire Pottery dogs £10.00 - £20.00   | 733 | A dark wood stained tripod wine table with leather top £10.00 - £20.00                                 |
| 705 | An Edwardian framed and glazed Pears print of Bubbles by Millais £10.00 - £20.00                               | 734 | A quantity of teddy bears including a Deans designer bear £10.00 - £20.00                              |
| 706 | A Victorian Wright & Butler oil lamp with brass  | 735 | A copper and brass miners lamp £10.00 - £20.00   |
|     | base £10.00 - £20.00   | 736 | A modern oak cased London clock Co   |
| 707 | A gilt framed print of Venice £10.00 - £20.00  |     | Westminster Whittington wall clock £10.00 - £20.00   |
| 708 | An angle poise lamp £10.00 - £20.00  | 737 | A vintage wooden jewellery box and a brass inlaid  |
| 709 | A quantity of vintage tin and enamel kitchenware including cakes, sandwich tins etc £10.00 - £20.00            | 738 | box £10.00 - £20.00  A Pair of smoked cut glass wall lights with brass                                 |
| 710 | Two original nude paintings £10.00 - £20.00  | 730 | frames and matching ceiling light £10.00 - £20.00  |
| 711 | A pair of Staffordshire Pottery dogs £10.00 - £20.00   | 739 | 2 carved wooden oriental figures and 1 other   |
| 712 | A glazed picture in gilt frame by J Pemberton Longman signed J P L entitled The Sound of Music £10.00 - £20.00 | 740 | £10.00 - £20.00 A quantity of children's annuals including Beano,                                      |
| 713 | A German plate depoiting an early motor car  | 744 | Rupert the Bear, Noddy etc £10.00 - £20.00   |
| 710 | £10.00 - £20.00  | 741 | 5 unframed black and white Roman / Greco style prints £10.00 - £20.00                                  |
| 714 | A gilt framed mirror £10.00 - £20.00   | 742 | A quantity of coloured glass including Amber   |
| 715 | 2 fine bone china cabinet plates A Days Fishing and The Shoot £10.00 - £20.00                                  | 743 | coloured vases £10.00 - £20.00  A modern AMS dark wood clock £10.00 - £20.00                           |
| 716 | A large rectangular mirror £10.00 - £20.00   | 744 | 5 brass vases £10.00 - £20.00  |
| 717 | A pair of gilt framed classical design prints and 1 other £10.00 - £20.00                                      | 745 | 2 framed and glazed Cash's silks - The Tandem and The Four-in-Hand £10.00 - £20.00                     |
| 718 | An oak framed oil on board titled The Jester £10.00 - £20.00   | 746 | A Royal Albert Moss Rose 83 piece dinner service £30.00 - £40.00                                       |
| 719 | A vintage scales and weights by F J Thornton & Co Ltd £10.00 - £20.00  | 747 | A fabulous lot of vintage kitchenalia including and Automatic Duchess potato peeler in original box; a |
| 720 | 2 ornate gilt framed mirrors £10.00 - £20.00   |     | Fethawasha with original label, poached egg pan  |
| 721 | A picnic basket (no contents) £10.00 - £20.00  |     | with china egg holders etc. £10.00 - £20.00  |
| 722 | A rectangular mirror £10.00 - £20.00   | 748 | 4 shelves of boxed and unboxed vintage soap / talcum powder etc. £10.00 - £20.00                       |
| 723 | A good barley twist shaped torchere £10.00 - £20.00  | 749 | A brass tray, wall plate, hammered copper bowl, lidded copper jug etc. £10.00 - £20.00                 |
| 724 | A 72 piece Charleston boxed cutlery set by Prima £20.00 - £30.00   | 750 | A pine dressing table mirror with drawer £10.00 - £20.00   |
| 725 | A bronze glazed pottery Roman style bust a/f £10.00 - £20.00   | 751 | A large Spanish orange fruit display on stand £10.00 - £20.00  |
| 726 | A dark oak side table £10.00 - £20.00  | 752 | A boxed 43 piece cutlery set (box is a/f) £10.00 -   |
| 727 | 6 albums of mainly GB stamps including Penny Reds £10.00 - £20.00  |     | £20.00   |
| 728 | A set of 3 graduated Lovatts Stoneware jugs £10.00 - £20.00  | 753 | 3 vintage Nenette Polishers for Car and Home and a The Cornette exhaust ejector £10.00 - £20.00        |
| 729 | 2 filigree glass ships in bottles £10.00 - £20.00  | 754 | A good lot of plant pots etc. £10.00 - £20.00  |
| 730 | A quantity of horse brasses, bellows, trivet, brass trays etc. £10.00 - £20.00                                 | 755 | A collection 18 pieces of vintage Alfred Meakin tea ware £10.00 - £20.00                               |
| 731 | A vintage 3 tier chandelier with glass droppers  | 756 | 4 boxed Harmony Kingdom figures and one other titled Primordial Soup £10.00 - £20.00                   |

1

| 757        | A vintage 19 piece tea set by J & G Meakin £10.00 - £20.00   | 785 | lotion, pins, curling irons etc. £10.00 - £20.00 An Eternal Beau dinner set approximately 60  |
|------------|--|-----|---|
| 758        | A vintage Marlborough tray and a boxed (unopened) Lady Clare Crown tray £10.00 - £20.00  | 786 | pieces £10.00 - £20.00 A quantity of silver plate items including boxes   |
| 759        | Approximately 45 pieces of Portmeirion Botanic Garden dinnerware £30.00 - £40.00   |     | £10.00 - £20.00   |
| 760        | 3 wall mounted flying ducks marked H O England on back £10.00 - £20.00   | 787 | A quantity of glassware items including crystal £10.00 - £20.00   |
| 761        | 4 shelves of vintage soaps and talcs etc £10.00 -  | 788 | A quantity of bells, a boxed Royal Worcester dish and 2 Italian figures £10.00 - £20.00   |
| 762        | £20.00 A framed oil on canvas coastal scene European   | 789 | 3 books on old scrapbooks - Victorian, Edwardian and 1920s £10.00 - £20.00  |
| 763        | school £10.00 - £20.00  A good lot of buttons and a quantity of linen etc.   | 790 | A quantity of brass items including candlestick and horse brasses £10.00 - £20.00   |
|            | £10.00 - £20.00  | 791 | An old wooden stool with barley twist legs £10.00 -   |
| 764        | A vintage dressing table mirror £10.00 - £20.00  |     | £20.00  |
| 765        | A good lot of silver plate tureens etc. £10.00 - £20.00  | 792 | 2 sets of vintage scales £10.00 - £20.00  |
| 766        | A good 3 tray cantilever sewing box and contents £10.00 - £20.00   | 793 | A good lot of Wedgwood blue and white jasperware £10.00 - £20.00  |
| 767        | A mixed lot of Parliamentary Reports of early 20th   | 794 | 2 boxed sets of Royal Worcester egg coddlers and a further unboxed set £10.00 - £20.00  |
|            | century Colonial Disturbances, Book on the Bayeux Tapestry, 1948 French book on Louis XIV, empty albums for British coins etc. £10.00 - £20.00 | 795 | An early 20th century Pure Butter shop display stand marked G Rushbrook, Smithfield underneath £20.00 - £30.00                                  |
| 768        | 2 framed and glazed architectural prints £10.00 - £20.00   | 796 | A 10 oz silver plate hip flask with sleeve by James Deakin & Sons of Sheffield £10.00 - £20.00  |
| 769<br>770 | A quantity of watering cans £10.00 - £20.00<br>A vintage 'Believe' clock £10.00 - £20.00   | 797 | A quantity of vintage cameras and accessories £10.00 - £20.00   |
| 771        | A framed oil painting of a coastal fishing boat  | 798 | 2 silver plate cloches £10.00 - £20.00  |
|            | scene by D J Reynolds £10.00 - £20.00  | 799 | A collection of small dolls £10.00 - £20.00   |
| 772        | A 1960s Andy Capp charity collection box £10.00 - £20.00   | 800 | A collection of Copeland Spode Chinese Rose tea<br>and dinner ware items including teapot, coffee pot,  |
| 773        | 2 vintage boxed Brexton car trays etc. £10.00 - £20.00   |     | tureens, bowls etc (approx 35 pieces) £20.00 - £30.00   |
| 774        | A framed and glazed limited edition print 305/500 The Meynell by John King £10.00 - £20.00   | 801 | A 1956 3D painting on glass of sailing ships and 2 of flowers £10.00 - £20.00   |
| 775        | 3 glass thermometers £10.00 - £20.00   | 802 | A round wooden coffee table £10.00 - £20.00   |
| 776        | A vintage style wooden advertising sign wall clock £30.00 - £40.00   | 803 | A vintage Imperial portable typewriter and a vintage telephone £10.00 - £20.00  |
| 777        | A Florentine chamber pot in original delivery box from Grattans catalogue dated November 1977 £10.00 - £20.00                                  | 804 | 2 boxed Spong vintage mincers in original delivery boxesfrom Freemans catalogue in the 1970s plus a boxed sky-line chopper, Tala doughnut maker |
| 778        | An oil on board of Old Packhorse Bridge at Watendlath, near Keswick £10.00 - £20.00  | 805 | etc £10.00 - £20.00 A Royal Albert Memory Lane dinner set - approx  |
| 779        | 4 Royal Doulton Dickens ware plates £10.00 - £20.00  | 806 | 30 pieces £10.00 - £20.00<br>A box of costume jewellery and beads £10.00 -  |
| 780        | A retro magazine rack etc. £10.00 - £20.00   |     | £20.00  |
| 781        | 2 oil paintings featuring country scenes £10.00 -  | 807 | A 17 piece Shelley tea set £10.00 - £20.00  |
|            | £20.00   | 808 | A three tier corner whatnot £10.00 - £20.00   |
| 782        | A lovely Academy Elephant and Baby figure on wooden base £10.00 - £20.00   | 809 | A quantity of kitchenalia including Shelley lidded pot, Sylvac lidded fish dish and more £10.00 - £20.00  |
| 783        | A good lot pf glassware including decanters, cake stands etc. £10.00 - £20.00  | 810 | A Digihome TV (no controls) £10.00 - £20.00   |
| 784        | A lot of vintage hairdresser items including rollers,  | 811 | 3 large Spode serving plates including meat platter   |
|            | -  |     |   |

2

|  | £10.00 - £20.00  | 840  | 2 Royal Doulton figurines, a Royal Doulton Springtime figurine and a Coalport figure £15.00 -   |
|--|--|--|---|
| 812  | A vintage sewing box etc. including a large lot of cotton reels £10.00 - £20.00  |  | £25.00  |
| 813  | A collection of Beswick animals, all damaged with some repaired including Camel, Salmon, Donkey,   | 841  | A fine silver plate tea caddy with lock £20.00 - £30.00   |
|  | Cockerel etc and a Teviotdale figure also a/f  | 842  | A pair of raw agate bookends £10.00 - £20.00  |
| 814  | £10.00 - £20.00<br>18 pieces of Leedsware including 8 large plates   | 843  | A quantity of small animal figures including Wade £10.00 - £20.00   |
|  | and 10 small plates £10.00 - £20.00  | 844  | A quantity of vintage whistles including A.R.P. and   |
| 815  | A boxed Epson PictureMate 500 etc £10.00 - £20.00  | 845  | LNER etc. £10.00 - £20.00 A quantity of crowns, coins etc £10.00 - £20.00   |
| 816  | A box of wooden and treen items including letter rack, Russian doll etc. £10.00 - £20.00   | 846  | A collection of 7 Royal Worcester jugs £20.00 - £30.00  |
| 817  | A quantity of vintage kitchenalia including bread bins, cake tins etc. £10.00 - £20.00   | 847  | A fine evening bag and purse as new £10.00 - £20.00   |
| 818  | An oil on board Village Scene by D J Reynolds  | 0.40   |   |
|  | 1957 £10.00 - £20.00   | 848<br>849   | 5 Capodimonte girl choir figures £10.00 - £20.00<br>2 cabinet plates including Masons £10.00 - £20.00   |
| 819  | 4 framed and glazed horse racing related prints  | 850  | A good lot of vintage soap, approximately 30  |
|  | and pictures £10.00 - £20.00   | 030  | packets including many London's Pride Soap, C   |
| 820  | A Beswick lioness £10.00 - £20.00  |  | W S Bath Carbolic Soap, Naptha, C W S White   |
| 821  | Two Murano glass clowns £10.00 - £20.00  | 051  | Windsor etc. £40.00 - £60.00  |
| 822  | A John Hughes Drop Kick Davies Grogg Grand<br>Slam 1976 figure £30.00 - £50.00   | 851  | A framed and glazed Louis Wain print £10.00 - £20.00  |
| 823  | A Beswick sheep, Beswick fox and swan £10.00 -   | 852  | 2 vases with artificial flowers £10.00 - £20.00   |
| 824  | £20.00 A Beswick koala and baby koala £10.00 - £20.00  | 853  | A collection of 4 furs including coat, shoulder cape and stoles £10.00 - £20.00   |
|  | T D ' 1  | 054  |   |
| 825  | Two Beswick penguins £10.00 - £20.00   | 854  | A figural clock of lady by lamp post and a clock  |
| 825<br>826   | A Beswick deer and fawn £10.00 - £20.00  |  | with side pot £10.00 - £20.00   |
|  | . •  | 855  | with side pot £10.00 - £20.00<br>3 ships in bottles £10.00 - £20.00   |
| 826  | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running   | 855<br>856   | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00   |
| 826<br>827<br>828  | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  | 855  | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion,   |
| 826<br>827<br>828<br>829   | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00   | 855<br>856<br>857  | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00   |
| 826<br>827<br>828<br>829<br>830                                    | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  | 855<br>856   | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion,   |
| 826<br>827<br>828<br>829<br>830<br>831                             | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  | 855<br>856<br>857  | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 -   |
| 826<br>827<br>828<br>829<br>830                                    | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  A World Cup Final programme at Wembley -  | 855<br>856<br>857<br>858   | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 - £20.00  2 trays of assorted costume jewellery and beads   |
| 826<br>827<br>828<br>829<br>830<br>831                             | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  | 855<br>856<br>857<br>858<br>859  | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 - £20.00  2 trays of assorted costume jewellery and beads £10.00 - £20.00   |
| 826<br>827<br>828<br>829<br>830<br>831                             | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  A World Cup Final programme at Wembley - England v West Germany Sat July 30th 1966 and a Wembley F A Cup Final Tie ticket stub Sat May  | 855<br>856<br>857<br>858<br>859  | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 - £20.00  2 trays of assorted costume jewellery and beads £10.00 - £20.00  A bedroom chair £10.00 - £20.00  A box of old pennies etc including Victorian  |
| 826<br>827<br>828<br>829<br>830<br>831<br>832                      | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  A World Cup Final programme at Wembley - England v West Germany Sat July 30th 1966 and a Wembley F A Cup Final Tie ticket stub Sat May 14th 1966 £50.00 - £80.00  | 855<br>856<br>857<br>858<br>859<br>860<br>861                                    | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 - £20.00  2 trays of assorted costume jewellery and beads £10.00 - £20.00  A bedroom chair £10.00 - £20.00  A box of old pennies etc including Victorian £10.00 - £20.00  |
| 826<br>827<br>828<br>829<br>830<br>831<br>832                      | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  A World Cup Final programme at Wembley - England v West Germany Sat July 30th 1966 and a Wembley F A Cup Final Tie ticket stub Sat May 14th 1966 £50.00 - £80.00  A figure of the Three Graces £10.00 - £20.00  A Moorcroft Christmas plate featuring a robin and holly £10.00 - £20.00   | 855<br>856<br>857<br>858<br>859<br>860<br>861                                    | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 - £20.00  2 trays of assorted costume jewellery and beads £10.00 - £20.00  A bedroom chair £10.00 - £20.00  A box of old pennies etc including Victorian £10.00 - £20.00  2 framed and glazed naif (naive) prints of a sheep  |
| 826<br>827<br>828<br>829<br>830<br>831<br>832                      | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  A World Cup Final programme at Wembley - England v West Germany Sat July 30th 1966 and a Wembley F A Cup Final Tie ticket stub Sat May 14th 1966 £50.00 - £80.00  A figure of the Three Graces £10.00 - £20.00  A Moorcroft Christmas plate featuring a robin and   | 855<br>856<br>857<br>858<br>859<br>860<br>861<br>862                             | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 - £20.00  2 trays of assorted costume jewellery and beads £10.00 - £20.00  A bedroom chair £10.00 - £20.00  A box of old pennies etc including Victorian £10.00 - £20.00  2 framed and glazed naif (naive) prints of a sheep and cow £10.00 - £20.00  A good mid 20th century dressing table £10.00 -   |
| 826<br>827<br>828<br>829<br>830<br>831<br>832                      | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  A World Cup Final programme at Wembley - England v West Germany Sat July 30th 1966 and a Wembley F A Cup Final Tie ticket stub Sat May 14th 1966 £50.00 - £80.00  A figure of the Three Graces £10.00 - £20.00  A Moorcroft Christmas plate featuring a robin and holly £10.00 - £20.00  Rare Crown Devon Commodore John Paul Jones tankard, a Goss Wales loving vup and 1960  Batman mug £20.00 - £30.00  A Beswick Squirrel Nutkins figure with early back  | 855<br>856<br>857<br>858<br>859<br>860<br>861<br>862<br>863                      | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 - £20.00  2 trays of assorted costume jewellery and beads £10.00 - £20.00  A bedroom chair £10.00 - £20.00  A box of old pennies etc including Victorian £10.00 - £20.00  2 framed and glazed naif (naive) prints of a sheep and cow £10.00 - £20.00  A good mid 20th century dressing table £10.00 - £20.00  A quantity of walking sticks, an umbrella and a   |
| 826<br>827<br>828<br>829<br>830<br>831<br>832<br>833<br>834        | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  A World Cup Final programme at Wembley - England v West Germany Sat July 30th 1966 and a Wembley F A Cup Final Tie ticket stub Sat May 14th 1966 £50.00 - £80.00  A figure of the Three Graces £10.00 - £20.00  A Moorcroft Christmas plate featuring a robin and holly £10.00 - £20.00  Rare Crown Devon Commodore John Paul Jones tankard, a Goss Wales loving vup and 1960  Batman mug £20.00 - £30.00   | 855<br>856<br>857<br>858<br>859<br>860<br>861<br>862<br>863                      | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 - £20.00  2 trays of assorted costume jewellery and beads £10.00 - £20.00  A bedroom chair £10.00 - £20.00  A box of old pennies etc including Victorian £10.00 - £20.00  2 framed and glazed naif (naive) prints of a sheep and cow £10.00 - £20.00  A good mid 20th century dressing table £10.00 - £20.00  A quantity of walking sticks, an umbrella and a parasol £10.00 - £20.00   |
| 826<br>827<br>828<br>829<br>830<br>831<br>832<br>833<br>834<br>835 | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  A World Cup Final programme at Wembley - England v West Germany Sat July 30th 1966 and a Wembley F A Cup Final Tie ticket stub Sat May 14th 1966 £50.00 - £80.00  A figure of the Three Graces £10.00 - £20.00  A Moorcroft Christmas plate featuring a robin and holly £10.00 - £20.00  Rare Crown Devon Commodore John Paul Jones tankard, a Goss Wales loving vup and 1960  Batman mug £20.00 - £30.00  A Beswick Squirrel Nutkins figure with early back stamp £10.00 - £20.00  A collection of 8 china pin cushion dolls £20.00 - £30.00 | 855<br>856<br>857<br>858<br>859<br>860<br>861<br>862<br>863<br>864               | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 - £20.00  2 trays of assorted costume jewellery and beads £10.00 - £20.00  A bedroom chair £10.00 - £20.00  A box of old pennies etc including Victorian £10.00 - £20.00  2 framed and glazed naif (naive) prints of a sheep and cow £10.00 - £20.00  A good mid 20th century dressing table £10.00 - £20.00  A quantity of walking sticks, an umbrella and a parasol £10.00 - £20.00  2 garden chimney pots £10.00 - £20.00  A Victorian cranberry glass oil lamp and 1 other -                                      |
| 826<br>827<br>828<br>829<br>830<br>831<br>832<br>833<br>834<br>835 | A Beswick deer and fawn £10.00 - £20.00  Two Beswick pigs £10.00 - £20.00  Four Beswick mallard ducks possibly running ducks- various sizes £15.00 - £25.00  4 Beswick horse foals £10.00 - £20.00  A quantity of vintage marbles £10.00 - £20.00  A French Etain D'artre silver plate carafe £10.00 - £20.00  A World Cup Final programme at Wembley - England v West Germany Sat July 30th 1966 and a Wembley F A Cup Final Tie ticket stub Sat May 14th 1966 £50.00 - £80.00  A figure of the Three Graces £10.00 - £20.00  A Moorcroft Christmas plate featuring a robin and holly £10.00 - £20.00  Rare Crown Devon Commodore John Paul Jones tankard, a Goss Wales loving vup and 1960  Batman mug £20.00 - £30.00  A Beswick Squirrel Nutkins figure with early back stamp £10.00 - £20.00  | 855<br>856<br>857<br>858<br>859<br>860<br>861<br>862<br>863<br>864<br>865<br>866 | with side pot £10.00 - £20.00  3 ships in bottles £10.00 - £20.00  A vintage wine flask £10.00 - £20.00  A good lot of art glass including Portmeirion, Caithness etc £15.00 - £25.00  2 decorative knives and an ornamental axe £10.00 - £20.00  2 trays of assorted costume jewellery and beads £10.00 - £20.00  A bedroom chair £10.00 - £20.00  A box of old pennies etc including Victorian £10.00 - £20.00  2 framed and glazed naif (naive) prints of a sheep and cow £10.00 - £20.00  A good mid 20th century dressing table £10.00 - £20.00  A quantity of walking sticks, an umbrella and a parasol £10.00 - £20.00  2 garden chimney pots £10.00 - £20.00  A Victorian cranberry glass oil lamp and 1 other - both missing burners £20.00 - £30.00 |

| 870 | 3 decanters £10.00 - £20.00  |
|-----|--|
| 871 | A quantity of Wedgwood Napoleon Ivy tea ware including 2 teapots, 3 milk, 2 sugar and 1 preserve pot £15.00 - £25.00   |
| 872 | A large sculpture of a couple kissing and a sculpture of The Kiss £10.00 - £20.00  |
| 873 | A vintage tapestry backed dressing table set including candlesticks £10.00 - £20.00  |
| 874 | A decorative Czech charger £10.00 - £20.00   |
| 875 | A T. G. Green cheese dish and 1 other cheese dish £10.00 - £20.00  |
| 876 | 2 vintage thermometers £10.00 - £20.00   |
| 877 | A decanter and 6 glasses £10.00 - £20.00   |
| 878 | A wooden tortoise, toad and resin frog £10.00 - £20.00   |
| 879 | A dark oak coffee table £10.00 - £20.00  |
| 880 | A good lot of boxed Royal Worcester china including Evesham, Poppies etc £10.00 - £20.00   |
| 881 | An old air rifle £10.00 - £20.00   |
| 882 | A ceremonial marching / swagger stick £10.00 - £20.00  |
| 883 | An ornamental Samurai sword with snake scabbard and cobra snake finial £10.00 - £20.00   |
| 884 | A framed and glazed oil painting European school signed but indistinct £10.00 - £20.00   |
| 885 | A basket of vintage clocks etc £10.00 - £20.00   |
| 886 | 3 vintage tools including plane £10.00 - £20.00  |
| 887 | A Portugese Casa Pupo strawberry lidded dish and spoon £10.00 - £20.00   |
| 888 | A Minton Cheviot 21 piece tea set £10.00 - £20.00  |
| 889 | A vintage dressing table / piano stool £10.00 - £20.00   |
| 890 | A vintage boxed treliscopic airing rack, vintage kitchen stand (unassembled and in original box) and 2 vintage shoe racks £10.00 - £20.00  |
| 891 | A set of 3 vintage boxed stellar saucepans (new), 2 boxed Saturn saucepans and a milk pot, a Kenwood Soda Stream (missing bottles), Hotpoint Kettle (missing lead) etc £10.00 - £20.00 |
| 892 | A vintage Metmec electric clock £10.00 - £20.00  |
| 893 | A tripod brass plant stand £10.00 - £20.00   |
| 894 | A quantity of chandelier crystals £10.00 - £20.00  |
| 895 | A collection of 4 wooden models of sailing boats (3 with stands) £10.00 - £20.00   |
| 896 | A quantity of 8 boxed Harmony Kingdom figurines, 1 unboxed and a boxed Pot Belly figure £10.00 - £20.00  |
| 897 | A large quantity of boxed and unboxed die-cast including Revell, Matchbox, tinplate,   |

Messerschmitt etc £30.00 - £50.00

An Edwardian pressed box coal box £10.00 -

898

899 A quantity of games including cribbage, dominoes etc £15.00 - £25.00 900 A quantity of silver plate including WMF also oil lamp bases, kitchenalia etc £20.00 - £30.00 901 A quantity of mixed items including Cath Kidston bag, Russian dolls, compacts, set of 3 storage boxes etc £10.00 - £20.00 902 A mixed lot including Tilly lamps, Wrenit car polisher tins, Carburol oil tin, metal note book etc £10.00 - £20.00 2 card games tables £10.00 - £20.00 903 904 A vintage steel bath tub, 2 large handled pans, griddle, watering can etc £10.00 - £20.00 905 A large lot of vintage flasks etc including some boxed £10.00 - £20.00 906 A quantity of LP records £20.00 - £30.00 907 A vintage Fleetway Product mangle Patent No 609259 £10.00 - £20.00 908 A good lot of art glass etc £10.00 - £20.00 909 A good decorative vintage planter £10.00 - £20.00 910 A painted wooden coffee table £10.00 - £20.00 911 4 display models of cars £10.00 - £20.00 912 A set of 6 Royal Doulton Booths Real Old Willow plates from The Majestic Collection £10.00 -£20.00 913 A quantity of modern art sculpture figures £10.00 -£20.00 An old pram and quantity of old dolls £10.00 -914 £20.00 A vintage brass fire fender £10.00 - £20.00 915 2 vintage flower / plant stands £10.00 - £20.00 916 917 A large quantity of assorted dog figurines £10.00 -£20.00 918 A set of 4 Polaris (unused) saucepans, a saucepan stand, and a boxed vacuum jug £10.00 -£20.00 919 An Art Deco lady figure and 2 glass dancing figures £10.00 - £20.00 920 A Leonardo horse and dray figure on stand £10.00 -£20.00 A Paquet metronome £10.00 - £20.00 921 922 A dark wood set of library steps £10.00 - £20.00 923 A collection of polished silver flasks and cannisters etc £10.00 - £20.00 924 2 Buddha figures £10.00 - £20.00 A boxed set of Royal Doulton cocktail glasses, 3 925 x 2 boxed Edinburgh Crystal wine glasses, and 2 x 2 boxed Cumbria Crystal wine glasses £10.00 -£20.00

A large Dartmouth Pottery model of an Austin

Healey 3000 car £20.00 - £30.00

£20.00 927 A pretty vintage 21 piece tea set £10.00 - £20.00

BidMaster Office 4

926

| 928 | A plate featuring the Pickwick Papers £10.00 - £20.00                                  | 962 | A large collection of DVDs including boxed sets £10.00 - £20.00  |
|-----|--|-----|--|
| 929 | A gold coloured porthole mirror £10.00 - £20.00  | 963 | A vintage jardiniere top and a planter £10.00 -  |
| 930 | A box silver plate etc including candelabra, coffee pot etc £10.00 - £20.00            | 964 | £20.00<br>A chest of drawers £10.00 - £20.00   |
| 931 | A vintage metal chest £10.00 - £20.00  | 965 | A dark wood stool £10.00 - £20.00  |
| 932 | A box of music books etc £10.00 - £20.00   | 966 | A chest of drawers £10.00 - £20.00   |
| 933 | A wooden towel rail £10.00 - £20.00  | 967 |  |
| 934 | 2 glass car models on bases being a Porsche 959  | 907 | 14 McDonalds Happy Meal light box signs including Batman, The Flintstones, Snoopy, World Cup etc £10.00 - £20.00 |
| 935 | and Ferrari Testarossa £10.00 - £20.00  A good dark wood 2 over 2 chest of drawers     | 968 | A Limited Edition print of a Leopard & Cubs and 2 prints of elephants £10.00 - £20.00                            |
|     | £10.00 - £20.00  | 969 | A set of pine wall shelves £10.00 - £20.00   |
| 936 | A large Juliana collection figural lamp with horse and courting couple £10.00 - £20.00 | 970 | An oak elbow chair £10.00 - £20.00   |
| 937 | A Royal Albert Berkeley dinner set approximately                                       | 971 | A vintage mirror with cabinet base £10.00 - £20.00   |
| 301 | 85 pieces £30.00 - £30.00  | 972 | · ·  |
| 938 | A leather Captains chair slight a/f £40.00 - £50.00                                    | 973 | A quantity of vintage planters etc £10.00 - £20.00   |
| 939 | A tall dark wood stool £10.00 - £20.00   | 973 | A Cort electric guitar with a Gig bag holder a/f £10.00 - £20.00   |
| 940 | 3 modern figures £10.00 - £20.00   | 974 | A quantity of money boxes etc including V W  |
| 941 | A bowl consisting of a good lot of wooden fruit £10.00 - £20.00                        | 975 | Camper Vans etc £10.00 - £20.00  |
| 942 | Approximately 44 pieces of Royal Doulton Sandon pottery £10.00 - £20.00                | 975 | A mahogany and brass coffee table featuring 2 panels under glass depicting medieval knights £20.00 - £30.00      |
| 943 | 2 European vases including an Austrian vase £10.00 - £20.00                            | 976 | A quantity of vintage jelly moulds etc £10.00 - £20.00   |
| 944 | A collection of RAF plates and memorabilia   | 977 | An adjustable angle poise lamp £10.00 - £20.00   |
|     | including Spitfire clock etc £15.00 - £25.00   | 978 | A collection of Chinese plates, dishes, teapot etc £10.00 - £20.00   |
| 945 | A pine dresser and stool £10.00 - £20.00   | 979 | An antler vintage case £10.00 - £20.00   |
| 946 | A wooden towel rail £10.00 - £20.00  | 980 | A vintage umbrella stand £10.00 - £20.00   |
| 947 | A Mawer & Collingham Ltd Lincoln hatbox and a Canadian fur hat £10.00 - £20.00         | 981 | 2 Old Charm bedside cabinets £10.00 - £20.00   |
| 948 | A dark wood bureau desk £10.00 - £20.00  | 982 | A child's / doll's pram a/f £10.00 - £20.00  |
| 949 |  | 983 | A 2 drawer 2 door white painted cupboard £10.00 -  |
|     | An oval dining table £10.00 - £20.00   | 903 | £20.00   |
| 950 | Approximately 45 pieces of Royal Doulton Royal Gold china £10.00 - £20.00              | 984 | A clapping monkey toy (requires batteries) £10.00 - £20.00   |
| 951 | A quantity of wicker baskets £10.00 - £20.00   | 985 | 2 good wooden plant stands £10.00 - £20.00   |
| 952 | A large table lamp £10.00 - £20.00   | 986 | A wooden TV stand £10.00 - £20.00  |
| 953 | A glazed 2 door cabinet £10.00 - £20.00  | 987 | A crib £10.00 - £20.00   |
| 954 | A Juliana collection table lamp with dragonfly tassel shade £10.00 - £20.00            | 988 | An oval table on tripod legs £10.00 - £20.00   |
| 955 | A wooden magazine rack £10.00 - £20.00   | 989 | A wicker chair £10.00 - £20.00   |
| 956 | An oval dining table and 4 chairs £10.00 - £20.00                                      | 990 | A modern table lamp £10.00 - £20.00  |
| 957 | A Vesta treadle sewing machine (SERIAL NO  |     | A 2 door (1 with mirror), 2 drawer wardrobe £10.00 -   |
| 931 | 1441 544) in cabinet (no drive belt, hatch replaced) £10.00 - £20.00                   |     | £20.00   |
| 958 | A 3 drawer bedroom cabinet (included House of  |     | An upright piano £10.00 - £20.00   |
| 550 | Shah receipt) £10.00 - £20.00  |     | A Victorian pine dresser base £10.00 - £20.00  |
| 959 | A 2 drawer cabinet £10.00 - £20.00   |     | A nest of three tables £10.00 - £20.00   |
| 960 | A Juliana collection table lamp featuring wolves                                       |     | 8 retro style chairs £10.00 - £20.00   |
|     | and tassel shade £10.00 - £20.00   | 991 | A continental tile top teak coffee table £10.00 - £20.00   |

£20.00

5

A small 4 shelf bookcase £10.00 - £20.00 BidMaster Office

961

| 992  | 2 faux leather chairs / seats £10.00 - £20.00  |
|------|--|
| 993  | A sewing machine storage cabinet £10.00 - £20.00   |
| 994  | 6 vintage chairs £10.00 - £20.00   |
| 995  | A Victorian mahogany astragal topped bookcase £30.00 - £50.00                              |
| 996  | An Edwardian oak astragal glazed top bookcase £10.00 - £20.00                              |
| 997  | A good 3 seater settee and one armchair £10.00 - £20.00                                    |
| 998  | A good 1950s green enamel kitchen unit with white top £20.00 - £40.00                      |
| 999  | A 2 door drawer wardrobe, 5 drawer chest of drawers and 2 bedside cabinets £10.00 - £20.00 |
| 1000 | A large mirror fronted oak wardrobe and a 2 drawer dressing table £10.00 - £20.00          |